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Disclaimer: These sample questions are for self-evaluation purposes only and do not appear on 

the actual certification exams. Answering the sample questions correctly is no guarantee that you 

will pass the certification exam. The certification exam covers a much broader spectrum of topics, 
so do make sure you have familiarized yourself with all topics listed in the exam competency 

areas before taking the certification exam.  

 

Questions 
 

1. The shadow system is installed during the upgrade to SAP ECC 6.0. Which step takes place 
outside of the shadow system? 
 
Please choose the correct answer. 
 
 

a) O Modification Adjustment Dictionary (transaction SPDD) 

b) O Table activation (ACT_700) 

c) O Table conversion (PARCONV) 

d) O Table distribution (PARDIST_SHD) 

 
 
 
 
 
 
2. You want to import the latest SP Stack into your central development system of an SAP 
NetWeaver Development Infrastructure (NWDI) track. However, the Java Support Package 
Manager (JSPM) does not recognize that your runtime system is under NWDI control. 
 
What is the reason? 
 
Please choose the correct answer. 
 
 

a) O You did not select the Integrate runtime system into JSPM scenario 
checkbox in the Change Management Service (CMS) transport 
studio. 

b) O You did not start JSPM in modify mode. 

c) O You selected to ship only SC archives without sources in the NWDI 



track definition of the Change Management Service (CMS). 

d) O You did not apply the prerequisite support package level for JSPM. 

 
 
 
 
 
3. Which are advantages of multiple local SAP NetWeaver Portal systems (no Federated Portal 
Network) versus one shared central SAP NetWeaver Portal system? 
 
Note: There are 2 correct answers to this question. 
 
 

a) O Support different regional zones 

b) O Provide different Service Level Agreements 

c) O Support multiple languages 
 

d) O Enable a strong governance process 

 
 
 
 
4. You need to set up an authorization concept for the SAP NetWeaver Development 
Infrastructure (NWDI). Which authorization features are available for the different NWDI 
components? 
 
Note: There are 2 correct answers to this question. 
 
 
 
 

a) O Component Build Service (CBS) offers UME-based buildspace-
specific authorizations. 

b) O The System Landscape Directory (SLD) uses both security roles 
and UME actions. 

c) O Change Management Service (CMS) offers the option to specify 
track-specific authorizations. 

d) O The Design Time Repository (DTR) offers UME actions that allow 
you to work on specific DTR workspaces only. 

 
 
 
5. A company uses Change Request Management with SAP Solution Manager to document and 
transport changes. After a successful logon to the SAP Solution Manager system, a new 
developer is not able to process a change request on the SAP Solution Manager system. 
 



What is a possible reason for this? 
 
Please choose the correct answer. 
 
 

a) O The user ID of the new developer has not been assigned to a 
business partner in the Employee role. 

b) O The developer is not logged on to the development system. 

c) O The developer does not have a valid developer key in the SAP 
Solution Manager system. 

d) O The development system is located in a transport domain different 
from the SAP Solution Manager system. 

 
 
6. A customer runs an SAP system based on SAP NetWeaver 7.0 with several instances. Which 
single points of failure (SPOF) do you have to take into consideration for the high-availability 
layout? 
 
Note: There are 3 correct answers to this question. 
 
 
 
 

a) O JAVA Central Services (SCS) 

b) O SAP Operating System Collector (SAPOSCOL) 

c) O Internet Communication Manager (ICM) 

d) O ABAP Central Services (ASCS) 

e) O Relational database management system (RDBMS) 

7. What is the main idea of SAP NetWeaver Information Lifecycle Management (ILM)? 
 
Please choose the correct answer. 
 
 
 

a) O ILM replaces data archiving. 

b) O ILM complements data archiving with retention management and 
retention warehousing. 
 

c) O ILM is an external storage system delivered by SAP. 

d) O ILM is the new tool to archive SAP NetWeaver Business 
Warehouse objects. 

 
 



 
 
8. Which remote services are covered by SAP Standard Support? 
 
Note: There are 2 correct answers to this question. 
. 
 

a) O SAP System Landscape Optimization 

b) O SAP GoingLive Functional Upgrade Check 

c) O SAP OS/DB Migration Check 

d) O SAP Remote Upgrade Service 

 
 
 
9. Which of the following support services can you directly access via the SAP Service 
Marketplace (http://service.sap.com)? 
 
 
Please choose the correct answer. 
 

a) O Download SAP upgrade guides 

b) O Execute the SAP remote installation service 
 

c) O Online conferencing with experts on demand 
 

d) O  System access to SAP hosted solutions 

 
 
 
10.  The downtime of a SAP system is a crucial aspect within an upgrade project. What do you 
recommend to keep system downtime to a minimum?  
 
Note: There are 2 correct answers to this question. 
 
 
 



a) O 

 Use the latest service release for the upgrade. 

b) O 

 Use a powerful separate hardware for the shadow instance. 

c) O 

Use the incremental conversion (ICNV) for large tables that need to 
be converted. 
 

d) O 

Use the parallel processing option of R3load to speed up the import 
of the shadow repository. 

  
 
 
 
 

 
 

 
 

[h3] 

 
Solutions 
 
1 a) Incorrect 2 a) Correct 3 a) Correct 4 a) Incorrect 5 a) Correct 

1 b) Incorrect 2 b) Incorrect 3 b) Correct 4 b) Correct 5 b) Incorrect 

1 c) Correct 2 c) Incorrect 3 c) Incorrect 4 c) Correct 5 c) Incorrect 

1 d) Incorrect 2 d) Incorrect 3 d) Incorrect 4 d) Incorrect 5 d) Incorrect 

 
6 a) Correct 7 a) Incorrect 8 a) Incorrect 9 a) Correct 10 a) Correct 

6 b) Incorrect 7 b) Correct 8 b) Correct 9 b) Incorrect 10 b) Incorrect 

6 c) Incorrect 7 c) Incorrect 8 c) Correct 9 c) Incorrect 10 c) Correct 

6 d) Correct 7 d) Incorrect 8 d) Incorrect 9 d) Incorrect 10 d) Incorrect 

6 e) Correct       

 


